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Probﬂem #3 (20 pomts}
For the circuit shown in Fzgure 3 ﬁnd :
" a. The Thevenin equwalent at termmals a and'b. Draw the Thevenm
equivalent and clearly indicate termmals a and b. ,
b. If a resistor with-a value of R=2.228 [kQ] is placed across termmals
a and b, What is the new R, at termlnals a and b‘7 ' :
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Problem 4 (25 pomts) @ L@M.ﬁ 4%6’; Mﬁg ”lmoi}éd ‘{'0 b at

For the circuit shown in Figure 4 at t < 0 it 1s known that 11 = 12 Find .zz(t)
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Pmblem #6 (20 pmnts) _ o ‘ -
For the circuit shown in Fi lgure 6 the loads L LZ, and L are descrlbed as
. follows: . S T S 5?.2[}2:7 g

L, is a resistance R in seriés Wlth a reactance of % 750 [Q];
L, is absorbing 2921. 4 [W] at'a pf of 0.832 lagging, .
Liis absorbmg 2482.7 [VA} at a pf of 0. 196 leadmg
Find: Lo

~a. The value of R , ‘_
b. The total reactwe puwer dehvered by the source _'
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